CORRE LTON  FRACTIONS - PARTIE ENTIERE

CHERCHER
3 i 5 b ?
1 b : A | i { i L i i 1 { ] ] }
e e e L e
34— o —
. : 25
o= £l U 13 b= ?:-j ¢z —
2 i ¥
EXERCICES
Ay o 2%
= o an [ 32
,ﬁ_é~_.“+’l 32 _g.1 21
== A 2o o Byl 24
4 2 oS 5 =k
L’
2/ 31'3/--5— 404»;—:9_% 51-%—"&
4 b 2 2
g/ 15_: 4 24 .3 ’%—E‘ g, ,LL§_:2§
2 3 3 4 4 ©
Z?’._Lr 9 2l
- b+ = .__:é
G 6 ‘
b \Q/ﬂ\. \ﬁijﬂ u'tf*', Ll é_ = A é__ - 4 , L* - 5 .
H | ) ) 3 J ‘Ir”/‘ ) ‘5"1
done S- 2 .y 3 1o
e } I s , ——".:.2_ ——-—:2.
b 3 9 3 A2 A5
= j —_— _:?) »—-—..3
2 o g )y T 5



